
Activo corriente 722.307.571        

Pasivo corriente 856.509.169        

Pasivo total 956.025.754        

Activo total 17.398.810.796  

Capital de trabajo                 = Activo cte - Pasivo cte = 722.307.571        - 856.509.169  = 134.201.598-        

Patrimonio                              = Activo - Pasivo = 17.398.810.796  - 956.025.754  = 16.442.785.042  

SGC - Financiera 

Instituto Distrital de Protección y Bienestar Animal

Indicadores Financieros 

dic-20

Liquidez                                    =                      84,33 

Nivel de endeudamiento = 5,49%

MR - Financiera


